+ T = =1 = (—#% )
Eell 1 5 & PR YT ] L Y
V= 1.00 X  6.40 = 6. 40
25 PTIEHERT X X W (No. 0~No. 2+10. 0)
V2= 0.04 X  50.00 = 2.00
2 5 fE AT HEWT I X L W (No. 2+10. 0~No. 2+14. 0)
V3= 0.06 X  4.00 = 0. 24
> = 8.64 m® 8.6
PR 15 & PR YT 3 L v
V= 1.02 X  6.40 = 6. 53
25 PTREHERT X X W (No. 0~No. 2+10. 0)
V2= 0.41 X  50.00 = 20. 50
25 & AT HEWT I X L W (No. 2+10. 0~No. 2+14. 0)
V3= 0.69 X  4.00 = 2.76
2 fE AT HEM I X L W (No. 2+14. 0~No. 2+16. 0)
V4=  0.86 X  2.00 = 1.72
> = 31.51 m® 31.5
HEL 15 & PR YT 3 X Y
ViI=  0.63 X  6.40 = 4.03
25 PTIEHERT X X W (No. 0~No. 2+10. 0)
V2= 0.30 X  50.00 = 15. 00
2 5 & AT HEWT I X L W (No. 2+10. 0~No. 2+14. 0)
V3= 0.41 X 4.00 = 1.64
2 & AT HEWT I X L W (No. 2+14. 0~No. 2+16. 0)
V3= 0.65 X  2.00 = 1.30
DIRES 21.97 m® 22.0
L Z R o ezl = 8. 64
PRI = 31.51
= 40.15 m°® 40. 2
D R YO HERE L vV = 21.97
= 21.97 m® 22.0
7R C #2E0 + Ki#E ) —  B&L + HE ) /0.9
V= 40.15 — 21.97 /0.9 = 15.74  m® 15. 7




-7 n

7 ] LT

A E

> (—xH )
Ty JFET
A=A | JEBAXK X v
A= ( 1.7T9  + 1.79 ) X 1/2 X
6.10 10. 92
) 10.92 m?® 10.
HIARY V=" (0.30 + 0.30 ) X 1/2 X 6.10 1.83
(RC-40)
> 1.83 m°® 1.
KR & N= ( 10.92 0.39 X 6.10 ) = 3.00
(VP ¢ 50) = 2.8 = 3.00 &
L= 3.00 X 0.51 1.53  m 1.
WHBs RS | A= 0.30 X 0.30 X 3. 00 0.27  m? 0.
(300X 300 30)
FLAET JEFEX LD
L= 6.10 6.10 m 6.
K 1 X LY
L= 6.10 6.10 m 6.
/INAIET JEBX LD
N=  1.00 1.00 Xt 1.




% ﬁ?é T (10m4 )

100 420
]
—
L] I
]
]
]
o]
100 620 100
720
4 B A " HAL % =
=7 Y—K V= { 0.100 X 0.270 + ( 0.270 -+
(18-8-40BB) 0.100 ) = 2.000 X 0.420 } X
10. 000 = 1.047  m’ 1. 05
H A= ( 0.270 + 0.100 ) X 10.000 = 3.700  m”® 3.70
BWlLavysy—F V= 0.720 X 0.100 X 10.000 = 0.720 m’ 0.72
(18-8-40BB)
S ARy A A= ( 0.100 + 0.100 ) X 10.000 = 2.000  m”® 2.00

K¥L A= 0.720 X 10.000 = 7.200  m? 7.20




fffr"% T (10m*%4 )

Z I

a7 )—h
(18-8-25BB)

I

o
==
420 200
H ZEX VAR ~'S
0.170 =+ 2.000 +
0.170 ) X 10.000 = 0.697 m°® 0. 70
10. 000 = 1.700  m? 1.70




7N H 1k T (1324 1)
1430
810 620 300
|
_ —e _
o= o=
2 = =
895 | 535
1430
£ PR &t H ZX IVARE~'S 5
a7 Y—k v= { ( 0.620 -+ 1.430 ) = 2.000 X
(18-8-40BB) 2.020 — 0.535 X 1.850 <+ 2.000 !}
X 0.300 = 0.473 m°® 0. 47
Tl e A= { ( 0.620 + 1.430 ) = 2.000 X
2.020 — 0.535 X 1.850 <+ 2.000 !}
X 2,000 4+ 2.020 X 1.077 X
0. 300 = 3.804 m? 3. 80
¥AE1.077 (1:0.4)
ZRSAP A= 0.895 X  0.300 = 0.269 m?® 0.27




B K EE W LT FHEE (21
A% T
UALRIE P LY
(3f#E3004) L= 54.00 54.00  m 54. 0
URLRI#E P LY
(17E3004) L= 2.00 2.00  m 2.0
a7 U—R%E N= 5400 + 0.50 —  6.00 102.00 K 102.0
(3fE300H)
JL—F /% N= 54.00 =+ 10.00 6.00 K 6.0
(3FE300 &' 7 % A V)
a7 U—RZE N=  2.00 <+ 0.50 4.00 K 4.0

(17E3004)




U A& fl % (B FE 300A) (10m2%4 1)

UZLAIiE (372300A)
ZERBEVHAILER

UZ2{AIE (352 300A L=2000)

P EEJLZILA:3)
i ‘ ‘
= @@” &;i@k 4 (RC-40)
4 i at H BN 5
UZRAIT N= 10.000 =+ 2.000 = 5.000 @ & 5. 00
(3F&E300A) ( L=2000, & HE&=419kg/fH )
SHEIRGRE D YA o VR,
e L& V= 0.360 X 0.030 X 10.000 = 0.108 m® 0.11
(1:3)
AR A= 0.560 X 10.000 = 5.600 @ m? 5. 60

(RC-40, t=10cm)

SR A= 0.560 X 10.000 = 5.600  m”® 5.60




u B fl ® (1 B 300A)

(10m%4 »)
UZSEIE (1EE3004)
ZEREREUTSM O ILEER
, 500 ,
‘ 300 ‘
g_% .
Lol 60 280 60
iﬁ ‘ ‘
o o —y
g‘}#m [ 1
g ik, S
360
560
4 i at H VYA ~'¢ 5
UZRAIT N= 10.000 =+ 2.000 5.000 @ & 5. 00
(17E3004) ( L=2000, 23 H &=348kg/fH )
SHEIRGRE D YA o VR,
e X V= 0.360 X 0.030 X 10.000 0.108 m® 0.11
(1:3)
AR A= 0.560 X 10.000 5.600 @ m? 5. 60
(RC-40, t=10cm)
FHHEIE A= 0.560 X 10.000 5.600  m? 5. 60




U i 8l i .
a7 J— k& (3H 300 (1H=0)
412
10_,135 10
A
412
]
5 402 5
W=45kg/#&
4 7t % LEAANE G
a7 Y—hrE N= = 1.000 H 1. 00

(37#, B=300)

ZERY YA 7 AVRERS

( L=500, &% H &=

45. Okg/F )




U i) 18] &

J Vv —F v 7FE (T-25,300) (1424 1)
412
412

W=16. bkg/#%
Z i " WAL %% &
FL—F T N= = 1.000 & 1. 00

(8 74w, T-25, 300)
(BEHZE~—2 A)

ZEEAT Y YA 7 VR

( L=500, 275 B &=16. bkg/K )




U i 8l i .
a7 J— k& (1300 (1H=0)
412
I
'T'S 1g_ ]g 10
;:H A412
I;ﬂ__ [T |
RN
5 A2 =
W=33. Okg/#%
% it B I S
a7 YU—hFr#E N= 1.000 | # 1. 00

(17, B=300)

ZERY YA 7 AVRERS

( L=500, 275 B &=33. Okg/K )




4 E T OFH O O&H = (—3t% 1)

BB Al A
=g 1 5 PR YT ] L Y
(t=40mm) V= 0.60 X  6.40 = 3. 84
25 PTIEUERT X X W (No. 0~No. 2+14. 0)
V2= 0.60 X  54.00 = 32. 40
Yy = 36.24 m® 36. 2

A KELY
(M-30, t=100mm) A= 36.24 = 36.24  m’ 36. 2




B RKAMABREE LHHESE (—H2% 1)

MET

Matar 70—k FEEX LY
L= 50.00 = 18.00 m 18.0
25t FNo. 0~No. 0+18. 0




=k A —
M & = v 7 U k (10m4 1)
4 i at H BN 5
27—k V= 0.100 X 0.100 X 10.000 0.100 | m® 0.10
(18-8-25BB) SOEZEIW=10cm
H At A= 0.100 X 0.100 X 1.000 0.010 | m? 0.01

(7254}, t=10mm)




BmEY M EL

i H B

(—40)
M EUE L T
a7 )—Fh 25 &P - EEUEWTE X XV
HaEBgE L V= 0.05 50. 00 = 2. 50
Yy = 2.50 m°® 2.5
T AT 7L b 15 & AT « FEAEWTEE LD
SEERREE L Al= 0.92 6. 40 = 5. 89
(t=10cmlL F)
25 AT < FEUERTEIX X W (No. 0~No. 2+10. 0)
A2=  0.90 50. 00 = 45. 00
2 & AT  AEUEWTE X X W (No. 2+10. 0~No. 2+14. 0)
A3=  0.30 4. 00 = 1.20
Yy = 52.09 m? 52. 1
EAE R BT 15 1% AT
(7277 k) Ll=  0.92 6.40 +  0.92 = 8. 24
(t=15cmPL ) %No.0:0.92m. #EE : 6.40m. No.0+6.40m : 0. 92m
27 {1 AT
2= 0.90 54.00 +  0.30 = 55. 20
¥No.0:0.90m. JEE :54.00m. No.2+14.0 : 0.30m
Yy = 63.44  m 63. 4
JERALVEE T
BOE EEMEUE L LV
@s=rsv—r) | V= 2.50 = 2.50
Y = 2.50 m°® 2.5
BOE EEMEUE L LV
(7277 R) V= 52.09 0. 04 = 2.08
> = 2.08 m’ 2.1
ALY POEE LD
@s=rsv—r) | V= 2.50 = 2.50
> = 2.50 m°® 2.5
RISy POERE LD
(7277 k) | V= 2.08 = 2.08
> = 2.08 m’ 2.1




